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1. Successive discounts of 30%, 20% and 5%
amount to a single discount of .

(A) 46% (B) 46.8%
(C) 53.2% (D) 47%

2. A Brand offers three types of successive dis-
counts :

(i) 30% and 20% (ii) 40% and 10%

(iii) 25% and 25%

Which offer is the best for a customer ?

(A) First offer (B) Second offer

(C) Third offer (D) All are equal

3. The difference between successive discounts
of 25% followed by 20% and 35% followed by
20% on the marked price of an article is ` 32.
The marked price of the articles is :

2 25% 20% 35% 20% 

` 32

(A) ` 800 (B) ` 400

(C) ` 200 (D) ` 600

4. Mark price of a shirt is ` 4800 and it is being
sold at successive discounts of 25% and

2
16

3
%. Its net selling price will be :

` 4800 25%

2
16

3
%

(A) ` 2420 (B) ` 3000

(C) ` 2520 (D) ` 2450

5. The marked price of a shirt is  150. After
allowing two successive discounts its price

is  105. If second discount is 12.5%, find
the first discount.

(A) 10% (B) 15%
(C) 20% (D) 40%

6. A shopkeeper gives 3 consecutive discounts
of 10%, 15%, and 15% after which he sells
his goods at a profit of 30.05% on the CP.
Find the value of the % profit that the shop-
keeper would have earned if he had given
discounts of 10% and 15% only.

10%, 15%, 15%

30.05% 10%

15% %

(A) 53% (B) 62.5%
(C) 68.6% (D) 51%

7. Two shopkeepers announce the same price

of ` 700 for a sewing machine. The first offers

successive discounts of 30% and 6% while the

second offers successive discounts of 20% and

16%. The difference in their discount price is :

2

30% 6% 

20% 16% 

` 700 

(A) ` 9.8 (B) ` 16.8

(C) ` 22.4 (D) ` 36.4

8. A shopkeeper offers 15% discount on all plas-
tic toys. He offers a further discount of 4% on
the reduced price to those customers who
pay cash. What does a customer have to pay
(in `) in case of ` 200 is the price of toy?

15% 

4% 

` 200 

(` ) 

(A) 133.7 (B) 129.8

(C) 163.2 (D) 153.3

9. A dealer buys a table listed at ` 1,500 and
gets successive discounts of 20% and 10%.
He spends ` 20 on transportation and sells it
at a profit of 20%. Find the selling price of the
table.

` 1,500 

20% 10%

` 20 20%

Profit & Loss
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(A) ` 1,420 (B) ` 1,300

(C) ` 1,320 (D) ` 1,3800

10. A dealer buys an article marked at ` 20000

with two successive discounts of 20% and 5%.

He spends ` 1800 on repairs and sells it for `
20000, what is his profit/ loss percent (cor-

rect to one decimal place) ?

` 20000 20% 

5% `
1800 ` 20000

(A) 23.46% profit/

(B) 17.65% profit/

(C) 17.65% loss/

(D) 23.64% loss/

11. An article is marked at 12.5% above CP. It is

sold at by allowing a 3 discounts of 14.28%,

x% and 22.22%. Find the value of x if there is

loss of 37.5% on article ?

12.5%

14.28%, x%

22.22% 37.5%

x

(A) 12.5 (B) 16.66

(C) 18.18 (D) 22.22

12. Trader A gives a single discount of 25% and

trader B gives two successive discounts of

20% and 5% on identical items. If the dis-

count given by A is 320 more than the dis-

count given by B, then what is the marked

price (in `) of the item?

A, 25% B 

20%  5% A 

 B 320 

(` )                           [CGL 2020]

(A) 3200 (B) 32000

(C) 30000 (D) 25000

13. A shopkeeper offers successive discounts of

35%, 10% and 6% on every item. At what orice

(nearest to a rupee) customers can get an

item, marked for ` 1,000?

35%, 10%  6% 

 ̀  1,000 

? [CHSL Pre 2020]

(A) `  645 (B) ` 450

(C) ` 562 (D) `  550

14. Three friends Rajni, Reshma and Sunil went

to a market to purchase party wear shirts

whose costs were same. But each shirt was

available with two successive discounts. Rajni

availed two successive discounts of 20% and

5%, Reshma availed two successive discounts

of 15% and 10% and Sunil availed two suc-

cessive discounts of 12% and 13%. Who gets

the maximum possible discounts?

20% 5%

15% 10%

12% 13%

(A) Rajni/ (B) Reshma/

(C) Sunil/ (D) /

15. 1/3rd of the total of an article is sold at a

profit of 15%, 1/4th is at a profit of 20% and

the remained part is at a profit of 24%. If the

total profit is  6,240 find the cost price of

the article.

(A) ` 35000 (B) ` 31000

(C) ` 32000 (D) ` 31200

16. If some articles are purchased for ` 450 and

one third sold at a loss of 10%. At what gain

percent should the remainder be sold so as

to gain 20% on the whole transaction ?

` 450 
1

3
 

10%

20% 

(A) 32% (B) 35%

(C) 28% (D) 30%

17. A cloth merchant sold half of his cloth at 20%

profit, half of the other cloth at 20% loss and

the rest was sold at his cost price. In the total

transaction, his gain or loss will be :

20% 

20% 

(A) 5% profit (B) Neither loss nor gain

(C) 5% loss (D) 10% profit
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18. A dealer bought some toys for `1800. He sold
40% of these at a loss of 15% and 33.3% of
the remaining toys at 20% profit. At what per-
cent profit should he sell the remaining toys
to earn an overall profit of 10%?

`1800 40%

15%  33.3%  20%

10% 

                          [SSC CHSL 2020]

(A) 20% (B) 25%

(C) 30% (D) 24%

19. 35% of goods were sold at a profit of 65%,
while the remaining were sold at x% loss. If
the overall loss is 12%, then what is the value
of x ? (correct to one decimal place)

35% 65%

x%

12% x 

SSC CGL MAINS, 2018

(A) 51.8 (B) 50.6

(C) 53.5 (D) 52.4

20. Anil buys 20 dozen oranges at  48 per Kg. If
he sells 8 dozen organges at a profit of 10%
and the remained at a profit of 20%, find the
profit percentage on the whole transaction.

(A) 10% (B) 16%
(C) 13% (D) 12%

21. A shopkeeper bought 120 quintals of wheat,
20% of it was sold at 25% loss. At what per-
cent gain should be sell the rest to gain 25%
on the whole transaction?

120 20% 

25% 25% 

(A) 
1

36
2

       (B) 40 (C) 
1

37
2

      (D) 35

22. A vendor bought 40 dozen of fruits for ̀  2400.
Out of these, 30 fruits were rotten and thrown
away. At what rate per dozen should he sell

the remaining fruits to make a profit of 25% ?

` 2400 40 30 

25% 

(A) ` 84 (B) ` 72
(C) ` 90 (D) ` 80

23. A merchant bought 200 eggs, out of which

38 eggs were broken. He sold the remaining

eggs at the rate of ` 4.80 per dozen and thus

gained 8%. His total investment is :

200 38 

` 4.80

8%

(A) ` 80 (B) ` 60

(C) ` 45 (D) ` 120

24. A man bought 25 crates of oranges for Rs.

10,000. He lost 5 crates. In order to earn a

total profit of 25% of the total cost, he would

have to sell each of the remaining crates at

25 ` 10000 5

25% 

(A) ` 650 (B) ` 625

(A) ` 600 (B) ` 575

25. Sunil buys 2500 Kg of wheat, 1/5 of which

he sells at a gain of 5%, 1/4 at a gain of 10%,

1/2 at a gain of 12% and the remainder at a

gain of 16%. If he had sold the whole wheat

at a gain of 11%. He would have made ̀  87.50

more. What was the cost price of wheat per

Kg.

` 87.50 

(A) ` 4 (B) ` 5

(C) ` 6 (D) ` 7

26. A shopkeeper marks his goods at 25% above

the cost price. He sells three-fourth of the

goods at the marked price and the remain-

ing at 40% discount on the marked price. His

gain/ loss percent is :

25% 

40% 

(A) Loss/  8.75% (B) Loss/  12.5%

(C) Gain/  10.5% (D) Gain/  12.5%
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27. A trader marked his goods at 20% above the

cost price. He sold half the stock at the

marked price. One quarter at a discount of

20% on the marked price and the rest at a

discount of 40% on the marked price. His to-

tal gain is:

20%

20% 40%

(A) 7% profit (B) 3% profit

(C) 1% profit (D) 2% profit

28. Mangoes are purchased at Rs. 10,000 per

tonnes. If one-third of the total mangoes were

sold at a loss of 4%, then to attain an overall

profit of 30%, at what price (per tonne) should

the remaining mangoes be sold?

`10,000

4%

30%

     [CPO 2019]

(A) ` 13,500 (B) ` 15,000

(C) ` 14,700 (D) ` 14,600

29. A person purchased 40 items at some price.

He sold some items at a profit of 30% by sell-

ing them at a price equal to the cost price of

26 items. The remaining items are sold at

18% profit. The total profit percentage is :

                         [CHSL 2019]

(A) 27% (B) 28%

(C) 25% (D) 24%

30. A merchant earns a profit of 20% by selling a

basket containing 80 apples which cost is `
240 but he gives one-fourth of it to his friend

at cost price and sells the remaining apples.

In order to earn the same profit, at what price

must he sell each apple?

80 ` 240 

20% 

                 (CDS 2012(II))

(A)  ` 3.00 (B) ` 3.60

(C) ` 3.80 (D) ` 4.80
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Solutions
1. (B) Single discount = A + B + 

AB

100
 =

= – 30 – 20 + 
600

100

= 44%

Now, – 44 – 5 + 
220

100
 = 46.8%

2. (B) From 1st option

Let MRP = ̀  100


                                 70


70 20

14
100

                70 – 14 = 56

Result D% = 100 – 56 = 44%

From 2nd option
Let MRP = ̀  100


                                 60

60 × 10% = 6

                      54

Result D% = 100 – 54 = 46%
From 3rd option
Let MRP = ̀  100


                                 75

75 × 25% = 56.25

                      56.25

Result D% = 100 – 56.25 = 43.75%
So, second offer is best.

3. (B) (Effective Discount %)
1
 = 25 +  20 – 

25 20

100
 = 40%

  (Effective Discount %)
2
 = 35 + 20 – 

35 20

100
 = 48%

ATQ,(48 – 40)%  8

 100%  
32

8
× 100 = ` 400

4. (B)      MRP  SP
          4  3
          6  5

          24  15


        (given) 4800

                        24       4800

                        15       3000

5. (C) First discount

MP × 
21 100 – x100 – x

100 100
 = 105

150 × 
1100 – x

100
 × 

100 –12.5

100
 = 105

            x
1
=  20%

6. (A) Let CP = 100
SP = 130.05
MP = x

 MP × 
9 17 17

10 20 20
 = 130.05

So, MP × 
9 17

10 20
 = 153

So, % Profit = 
153 100

100
× 100 = 53%

7. (A) For Shopkeeper 1 % discount

= 30 + 6 – 
30 6

100
= 34.2%

For Shopkeeper 2 % discount

= 20 + 16 – 
20 16

100
 = 32.8%

So, Required difference = 700 × 
34.2 32.8

100

= 7 × 1.4 = ` 9.8

8. (C) Required Amount = 200 × 
85 96

100 100

                             = ` 163.2

9. (C) CP = 1500 × 
4 9

5 10
 = ` 1080

Actual C.P. = 1080 + 20 = ` 1100

So, S.P. = 1100 × 
6

5
 = ` 1320

10.(B) ATQ,

Total CP = 20000 × 
4 19

5 20
 + 1800 = ` 17000
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SP = ` 20000

% Profit = 
3000

17000
× 100 = 17.65%

11.(B) Let CP = ` 100
 SP = ` 62.5
ATQ,

100 × 
100 x9 6 7

8 7 100 9
 = 62.5

 (100 – x) = 
250

3

 x = 
50

3
 = 16.66

12.(B) Final discount given by A = 25%

Find discount given by B = 20 + 5 – 
20 5

100

= 24%

25% – 24% = 320
     1%  320

MRP = 
320

1
 × 100 = 32,000

13.(D) M.P. = 1,000

discounts respectively = 35%, 10%, 6%

S.P. = 1000 × 
65

100
 × 

90

100
 × 

94

100

= 65 × 
94

100
 × 9

S.P. = 549.9  550 (nearest)

14. (A) Let the price of the shirt be 1000

Rajni availed two successive discounts of

20% and 5%

So, the net price of the shirt

= 
80 95

1000
100 100

= 760

Total discount = 240

Let the price of the shirt be 1000

Reshma availed two successive dis-

counts of 15% and 10%

So, the net price of the shirt

= 
85 90

1000
100 100

 = 765

Total discount = 235

Let the price of the shirt be 1000

Sunil availed two successive disconts of

12% and 13%

So, the net price of the shirt

= 
88 87

1000
100 100

= 765.6

Total discount = 234.4

Therefore, Rajni gets the maximum

possible discount

So option (a) is the correct answer.

15. (D)          Total % profit

= 
1

3
×15% + 

1

4
×20% + 

5

12
×24% = 20%

So, 20% = ̀  6240

 CP = 100% = 6240 ×
100

20
 = ̀  31,200

16. (B)  ATQ,

20 % = 
1

3
×(–10%) + 

2

3
×(x%)

 x% =  35%

17. (A) Total % profit

= 
1

2
×20% + 

1

4
×(–20%)  + 

1

4
×0% = 5%

18.(C)   C.P. – 1800

   S.P. = 1800 + 1800 × 
10

100

            = 1800 + 180 = 1980

40%        1800 × 
40

100
 = 720

Remaining 33.33% = 1080 × 
1

3
 = 360

720 × 
85

109
 + 360 × 

120

100
 + 

720 100 x

100
 = 1980

   36 × 17 + 36× 12 + 
36

5
(100 + x) = 1980

   36
100 x

17 12
5

 = 1980

   29 + 
100 x

5
 = 55

   100 + x = 130 – 100

   x = 130 – 100  = 30%
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19. (C) ATQ,

– 12% = 
35

100
× 65% + 

65

100
× (–x%)

 x = 

35 65
12

100

65

100

 x = 35 + 
240

13
 = 53.46 53.5

20. (B)   Total % profit = 
8 10% 12 20%

20
 = 16%

21. (C)   ATQ,

25% = 
20

100
× (–25%) + 

80

100
× (x%)

 x = 
30 5

4
 = 37

1

2
%

22.(D)   Total CP = ` 2400

Total SP = 2400×
5

4
 = ` 3000

So, SP/dozen = 
3000

(40 – 2.5)
 = ̀  80/dozen

23.(B)  Total investment = 
4.8 100

162
12 108

 = ` 60

24.(B)  ATQ,

Required SP = 
10,000

20
 × 

5

4
 = ` 625/carot

25.(B)   %Profit

= 
1

5
×5% + 

1

4
×10% + 

1

2
×12% + 

1

20
×16%

= 10.3%

ATQ,

11% – 10.3% = ̀  87.50

 Total CP = 
87.5

.7
×100 = ` 12500

So, CP `/kg = 
12,500

2,500
 = ` 5/kg

26.(D)  Let  CP = ̀  100

            MP = ` 125

SP = 125 × 
3

4
 + 125 ×

1

4
×

3

5
 = ̀  112.50

So, % Gain = 12.5%

27.(D)   Let CP = `   100             MP = ` 120

SP = 120×
1

2
 + 120 × 

1

4
×

4

5
+ 120×

1

4
×

3

5
= ̀  102

% Profit = 2%

28. (C) Cost price of mangoes = 10,000 per tonnes
suppose mango purchased = 3 ton

= 3 × 10,000 = 30,000
If one ton sold at 4% loss

1 ton = ` 9600
for 30% overall profit

SP = 30,000 + 9,000
= 39000

Remaining amount = 39000 – 9600
= ` 29400

SP of remaining 2 ton = ` 29400

1 ton =
29400

2
 = ̀  14,700

29. (D) CP = 1

SP = 1.3

Sold items at 30% = 
26

1.3
 = 20

Sold items at 18% = 40 – 20 = 20

x = 
30 1 18 1

1 1
= 

48

2
= 24%

30.(C)      CP of 80 apples = ̀  240

         CP of 1 apple = ` 3
     CP of 20 apples = ̀  60

To earn a profit of 20%, then

SP = 120% of 240 = ̀  288

But he sales 
1

4
of his apples i.e. 20 apples

for ̀  60.

     SP of remaining 60 apples

 = (288 – 60) =  ` 228

     SP of 1 apple = 
228

60
 = `  3.80


